BALOCHISTAN ACADEMY FOR COLLEGE TEACHERS(BACT) QUETTA

S Model Paper for Admission of Students in Class 7th
Total Marks: 100 Time allowed: 03 hours
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Objective Portion (MCQs) (40 Marks) Time allowed : 01 Hour

English MCQs
Q.1. Ibne Sina was born in
a) Sparta b) Samarkand c) Bukhara d) Mash’had
Q.2. Beauty and cleanliness are
a) Collective noun b) Concrete noun
c) Proper noun d) Abstract noun
Q.3. The plural of ‘ox’ is
a) oxes b) oxen c) oxed d) oxis
Q.4. My brother gave a gift
a) me b) for me c) tome d) from me
Q.5. There is not water in the stream.
a) more b) many c) enough d) too many

Q.6. A word that describes a noun is called:

a) Adverb b) Adjective c¢) Conjunction d) Pronoun
Q.7. The child because he is hungry.
a) was crying b) is crying c) crying d) has been crying

Q.8. My brother plays football.
a) Football is played by my brother. b) Football is being played by my brother.
c) Football was being played by my brother. d) Football was played by my brother.
Q.9. We began to work hard for the test. ( Change into negative.)
a) We did not began to work hard for the test.
b) We did not begun to work hard for the test.
c) We did not begin to work hard for the test.
d) We did not begins to work hard for the test.
Q.10. “He has been studying here for ten years.” Which tense is it?
a) Present Continuous Tense b) Present Perfect Continuous Tense

c) Past Perfect Tense d) Past Perfect Continuous Tense
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Urdu MCQs
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Mathematics MCQs

21. Which one represents the infinite set?

& @

GG (o
e ie

S (<

P )
beeul (o

~& A7 ey

e IS («
S w»)ilwuf

ot 2 501 36

: o JIs

See L Tt (!
/(L' L ¥ u"'/(@
¥ iy

» (S

#: 4 Jly

e L (S

I 4 Jly

A1 S ()

1: 4 Jly

u:"‘"" (I

M: 4 Jly

(f’y (<

1&: 4 Iy

e W RT (S
I # Jlv

UsTes Ly (I
¥ UJTU: ) LJVV g (C

9: 4 Jly

S G AL Ly o ()

S L dhde ol (@

- o)hﬂ”l)u;ﬂyul“) Fo: od Jly
k(< (S
-%t/ﬁw/qthquu/

a) {g; h! L!]}

b) [{1,3,7,9,11,13}

c) | {Real numbers} slasl (id>

d) | {The numbers of boys in your school}

S s E A
22.12130is divisible by - (F =", 12130
a)| 6 b) |5
c)|4 d) |3
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23. If we subtract -13 from -6, the result is: <§.th‘532.@1;(«}’“}7<;—6/—13/¢

24.

25.

a) | -7

b) | 7

c) | -19

d) | 19

8—(6—6=+2)isequalto

48— (6—6+2)

a) | 2 b) |5
c)|6 d) | 8
The second element of 5,10,14 will be (Knufgf//l/uuﬁsflorm)
a) |5 b) | 7
c)l9 d) |12

26. An object was sold at Rs.48, if profit is 20%, then cost price will be

nlatedinnl 200 m-lat e 2485 g L1 /]

P
f

a) | Rs. 15

b) | Rs.25

c) | Rs. 20

d) | Rs. 40

27. The expression for “three more than X multiplied by two” is

28.

29.

30.

e - L ! uf " Kb l[?nx

a) (2xx+2) b) (2xx+3)

c) 3(x+2) d) 2(2x +3)
The common end points of two rays are called Lng)ﬁij“‘Kufuﬁu

a) Angle sl b) | Line &

c) Vertex I/ d) | Line segment L3 b
Area of a rectangle is ,}/KJ:”V

a) one dimensional Lf J.{ b) | two dimensional 07 0

¢) | three dimensional Eor d) | four dimensional § sle
Number of vertices in a cuboid is La)lﬁd/uruuﬁbf'./(

a)| 6 b) | 8

c) |9 d) | 12

Science MCQs

31. Which one of the following is animal cell? St £k Sfius Snk e st 5t

a) | Cell wall Jl}Jf

b)

Centriole 73

¢) | Chloroplast wugwﬁ

d)

One big vacuole J}:..(:&u’w{’

32. There are three bones in the ear. Where are these located? ?u:t@lgéguw/fujg}nugéufuﬁﬂ

a) | Outer ear U':U{L})/:-

b)

Middle ear ufub/uJV;

¢) | Inner ear

o uK&;m

d

v

Auditory nerve
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33

34.

35.

36.

37.

38.

39.

40.

. Which gas is used in photosynthesis? ?La&ndb&’iu{dufufféf u‘;w;:’

a) | Nitrogen  (Ss70

b) | Chlorine 04 /;K

c¢) | Oxygen gf:cf

d) | Carbon dioxide f»’l/l'éljui;{

Which organisms are called producers? ?ungfJ/gﬁ,4/|xtg¢;uf

a) | Plants ;){j

b) | Bacteria | }é

c¢) | Fungi thﬁ’

d) | Animals sk

Calcium carbonate is used: ‘Lt‘ndb’*li’m%y

a) | in white wash (1518

b) | in constructions u.'.':,l/:’)

c) | asfuel a2

d) | asfood. S5

The percentage of nitrogen in the air is: Aﬁfﬂéu@%ﬁtu:m
a) | 0.03% b) | 17
¢) | 20.9% d) | 787

Where are pollen grains located in? Sz bz LUl Luéd{

a) Ovary L}D,.ff;

b) | Anther Vadl

c¢) | Sepals U =

d) | Petals UL 2%

The energy of moving object is called: ung/J/ierqu"’

a) | kinetic energy (5./'!.)2»’3{

b) | potential energy A= ]

c) | electrical energy (ﬁ/’lﬂ }gl

d) | solarenergy  §.1./»

Which of the following is an example of wheel and axle system? €< (5 oy JL’PJ (b'/ (}’“{U}' ST

i
et

a) | Knife s,

b) | Screwdriver J/ 6:

¢) | bottle opener el S s

d) | Hammer  (§/##7

Passage of light ray through certain object is called -LLL“M@/}( KCL;ﬁquc/;zu/

a) | Transmission / 1/

b) | Absorption ﬁ/l'/;.l

¢) | Reflection ﬁ/

d) | diffused reflection ‘;ng/ﬁj}f:"
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Subjective Portion (60 Marks) Time Allowed : 2 hour

Short Questions Portion

English
Q.1: Answer the following Questions. (Any five) (2 x5 =10 Marks)
I. Who was first woman who embraced Islam?
[I. What are the causes of air pollution?
[ll. What message does Eid give?
IV. What should we do before getting on a bus?
V. How should we serve our country?
VI. What was name of the first woman who embraced Islam?

VIl. How should we behave with other passengers while travelling on a bus?

—_—
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sy F S

Gk b Uiz e A
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YA YLe
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_J.‘.J e

—< /Lfc&& @
Mathematics (Marks 10)

Q1. A number is multiplied by 5 and 3 is subtracted from it. If the result is 32. Find the number.

(marks 03) 9@321,@9;"@/&}3/{/51@;_,/;5}6&;{’
OR

Find the HCF of 60, 72 and 84. (marks 03) /79 1584, 6072

Q2. The marked price of an object is Rs.2500. If the sale price is Rs. 2400. Find discount
percentage. (marks 03)

A ST 2800280 p e d e g 125002F S 2
OR

mpli 3. 3%yl 4t 2 33841 41
Simplify  7;+3-X4-— 42 L 7o+ 3o X4z — 42 (marks 03)
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Q3. A piece of cloth is 32m long. If two pieces of length 3% m and 5; m have been cut from it,
then find the length of remaining piece. (marks 04)
W R E B S qo ek S L5 2m a3 2e Gt Sie Fie s

Science (in 3 to 4 lines) (marks 10)

Q1. Differentiate animal and plant cell (marks 03) SIS LZunyside
OR
Write short note on respiration in plants (mark 03) u:’@),ff/?ﬁ/’tg/utu»g -
Q2. What is the difference between a fixed pulley and a moveable pulléy (Marks 03)
e AL St 4
OR

Differentiate concave mirror and convex mirror.  (marks 03) -Q/ug.&)uﬁ//‘jgﬂ?,uj/};ﬁ

Q.3 When an empty glass is inverted vertically in a tub of water, the water does not enter inside
the inverted glass. Why is it so?( marks 04)

te Ut Pt Bl s o e ot 1 Z4y
Long Questions
English
Q.2: Write a story on the following. (05 Marks)
The Fox and the Grapes
OR

Write an application to your school principal for fee concession.

})Jf
(05) _u*f’i Sl /,{uf e JStso_ Ly
G L s AR

Science (marks 05)

Q .3 lllustrate the internal structure of a leaf with a diagram and explain its different parts.
Q/MU;JUWJC;LJIML&ﬁJ&V&u}ld/"%
OR

Describe the characteristics of the image formed by a convex mirror and explain with the help of
diagrams.

q/yu,/&f”u/ugay#Jé!Lu&uﬁj/Jgf

Mathematics (marks 05)
Q4. Two water tanks have 630 liters and 672 liters volume capacity each. Find volume of the
largest pot to fill both the tanks in exact.

_f,l?l/f/uﬁucd?_Qf/(}”(%KJ/,gkd“l.{l_‘L;ﬁrfﬁfd/égﬂ672/;l}363Oufu{!/;a,ufuﬁ»

OR
A square garden has a length of 65m. A path 3m wide runs around it on the outside. Find the area of
path.
S e 6T S ke S A g 23 e 2 FesSUSELE L
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